Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — V-EXAMINATION - WINTER 2015

Subject Code: 351905 Date: 14/12/2015

Subject Name: Estimating, Costing & Contracting

Time: 10:30 AM TO 1:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
Q.1 (a) (i) Write difference between estimating & costing.
(ii) Explain any one method to calculate depreciation.
sl 1 A (i) ARARSL ual slEloL cell dstad cull.
(i) 3UldlAxet allticte(l o1 d A5 Il UHawLel
(b) Catalogue price of Shaper machine is Rs. 50,000. Distributor is given
discount of 10%. Office over head + sales over head = factory cost,
Material cost : Labour cost : Factory over head = 1:3:2 & labour cost is = Rs.
9000 , find profit on Shaper.
o As Au Hallet ol Jacllol WA Rs. 50,000 B. 3RRuY22 A 10%
(3251Gc2 UMl U B. Bl(FU AU AES AUy A vlads ol
el 3523 slxe wecll aal 8. ol HiRad sle: AuR sle: 3523l
WlARES = 1:3:2 8lal Ul AWR 52 = Rs. 9000.82L ol Aur Hllst
HI2 o8l alltl.
Q.2 (a) List elements of cost & factors affecting Gas welding.
Y. 2 W I Aol 1 AlATeu uls slre dHy UUR sl uRBwal el
(b) Define Break even point. List it’s importance in Industry.
W Qs 8ol W ofl calvall Aull. Sosxdl Hi Aol woteatdl dul.
OR
(b) Explain with sketch effects of changing following parameters on Break even
point:
(i) If fixed cost F decreases (ii) If variable cost V increases.
ol ofldoll WAHL2R sl wectcnell As Bctol WSoz GUR Ul WU
5[ gLl wmandl.
(i) %l (3535 slke F elelsalldl A (i) %l ARG slke V dullRadlHi
wLd .
(b} A circular Aluminium rod is to be reduced from 50 mm to 40 mm for a length

of 100 mm. in two cuts. Assuming cutting speed = 20 mt/min. & feed = 0.01
cm/rev. , Estimate time required for turning.
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o A5 olousk ARMEA M ol A0 50 mm R Hill 40 mm U 09
Yl 100 mm clouss e A s2 i vatseuHi WA B, o sot wdls =

20 mt/min. Al $lS =0.01 cm/rev &lal dl 2[ToL sl HIZ ol AHA

alledl.

OR
Q.3  (a) Define pattern. List & explain types of pattern allowances. 07

Y. 3w Vel ofl cavall cull. Uzel AAGo oll Usl? ofl ael cull o uxendl. 09

(b) Estimate time required to drill 6 holes of 1 cm. diameter in a plate. Depth of 07
hole =2 cm. , Cutting speed = 15 mt/min & feed = 0.01 cm/rev.

ol A5 e Hl 1 om. U™ YRl 6 e ULlsell Hi2 ol yHa Ak, 09

alcdt ofl QSIS = 2 cm, SEoL 1S =15 mt/min el 815 = 0.01 cm/rev B.
Q4 {a) Explain any five sheet metal operation with sketch. 07
ug ¥y 3 o d uld el Aed vlluRaet wusld gl qmendl. 09

(by Calculate time required for shaping a 25 cm x 25 cm C.I block on Shaper 07
machine in a single cut. Feed = 0.06 cm/stroke & cutting speed = 10 mt/min.

ol 25cmx25cm CL 6cls of As 52 Ul AUR Hellot gL Aol s2e 09
HE2 oll xR Al $lS = 0.06 cm/stroke el (8oL ¥Uls = 10 mt/min.
OR
Q4 {a) Explain any five sheet metal joints with sketch. 07
usy ol d uiu 9lle Ned A2 usld sl dmesdl, 09
(b) Estimate time required for finishing 100 cm x 30 cm size surface on 07

Planning machine. Take cutting speed = 15 mt/min & feed = 0.1cm/stroke.
o 100 cmx 30 cm ofl AWl of wellolk Hellot gl GRARDL sl w2 ol 00

Ax k. s@ot 2Uls = 15 mt/min el §lS = 0.1cm/stroke .

Q.5 {a) List modern tools & techniques of cost reduction. 07
Wi W A slke yalsal HI2 otl Mlsel gt ual 2slas ol auel cul. 09
(b) Explain any two types of budget . 07
ol ol o ol st il sige dHastal. 00

OR
Q.5 {a) List & explain in brief documents required in engineering contract. 07
ust.u A AlRe{laREol sloglse M2 %33 slsyile ol el cull ual unadl. 09
(b) Define budget & budgetory control & list purpose of budget. 07
ol oBe wel w2l sogled ofl cetuall dAul. dues Wge ol & cull. 09
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